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in(z - 4) —;— 5In(z? + 4z)] = £ In[(z — 4)(z? + 42)°] = Iny/(z — 4)(2? + 42)®

PS=T & log2¥S=log7 & -5 =11 & z=1(5+2])~260

In(2z-3)=14 & "N =ct & 2r-3=et & z=1(3+eM)~601303.64
21-2 = 3245 o Jog2l™T =1og3** & (1-z)log2=(2z+ 5) log3 <«

- lo
#(21og3 + log2) = log2 ~ 5log3 z:{ggngg{ggg ]og(g2 5y ~ —1.66

5 5
logs( +5) —logs(z —2) =1 & logg<ii—2)=1 o zf2=81:8 o

z+5=8z-16 & Tr=21 & x=3

2 =5 & log231=log5 & 3”log2—log5 & 3”—10g2 &

93%-5 =7 & (3z—5)log2=1log7 & z=3i(5+] e 2ET) & 2.602452
e 1% =10000 < —15k=1In10000 <« k= —3In10000 ~ —0.614023



